1. FR2 8 FREERE (FRL2 95 3 AZEE) ERIAR

SER o X EER 5T
7N =2 203 85.3% 24 58.5% 227 81.4%
5] A 3 1.3% 9 22.0% 12 4.3%
=g « T2 9 3.8% K4 17.1% 16 57%
) iy 1 0.4% 1 2.4% 2 0.7%
RAERME 22 9.2% 0) 0.0% 22 7.9%
5T 238 |100.0% 41 100.0%| 279 |100.0%

2. Fi2 O FEARBRB LUARIRR
* () AOBFIIERETAH

[E i X]
Bl AiE=SEPA 1 | BMX 1
BlAiE=SEE ISP 3 | =&X 1
SABIK 1 | RRLZFK 2
sFAKN 2 | SRX 1
ALK 1 | L&XK 1
MERX 2 5 57(1)
LR 1
BEX 2
IR 1
TIRK 2 [& 3 X]
FE=K 21 | SHREIREKR 1
ESYN 1 | RBRIIX 1
BEX 2 | BRRULZFAKA 4
FEXR 1 | SEREX 1
CELTN 1 | REGEX 1
LHEHEX 2 | WHRIX 1
FRAR 3 | BRERIZX 1
SWAK 1 | ELWRIZIXK 1
S7AVN 1(1) | #HERIK 1
HIEIN 2 | REEIK 1
5 13
=E11 70(1)




(% i X]

EIREERALK 26 | RREKX 2
BEERKX 9 | RREBXK 4(1)
BREKX 4 | |HK 1
=[P 73 | BEK 22
BHK 8 | BAKX 12(2)
LK 26(2) | BAEELGAK 1
BEINGE 5 BALZFK 11(4)
SUWZHEREK 1 | BALZFHEERKR 1
RELZFK 10(1) SEIUK 3
FBIRAK 1 HEEFEK 2(2)
JEEX 2(1) | 88BX 6
HIIZFK 5 | BEBEERA 7
BE2RA 3 | BEBEKX 1(1)
=P 6 | IIEK 5
EEZFK 6(1) | FMWEX 1(1)
IBRE KR 2 | m|K 1
BRZFK 17(2) FEESNN 1
TFREK 2 | WEERK 1
D3N 3 | JxURLFERK 3
ZEEK 3(@) | REEK 1
hoK 5 | RBLZFK 3
E{SaE- YN 3 | 1IenBEX 2
ERRIK 5 | 2o 29
RRUZFK 11(5)
RREEK 6

88t 361(33)




